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Monohybrid and Dihybrid Quiz (10 pts)

Genetics Problems

Define alleles

Define phenotypes associated with genotypes

Write out cross

Produce gametes

Perform cross (Punnett square)

Determine genotypic and phenotypic ratios of offspring
Use the above to answer the problem
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Each Problem = 5 pts. (I just double the score for quiz points)
5 = All work shown, easy to follow and correct
4 = All work shown and correct
3 = All work shown and incorrect
2 = Only correct answer given
1 = Only incorrect answer given
. 0 = Problem not solved

1. Indogs, wire hair is dominant to smooth. Ina cross of a true breeding wire-
haired dog with a smooth-haired dog, what will be the phenotype of the Fi
generation? What would be the genotype? What would be the ratio of wire-
haired to smooth-haired dogs in the F2 generation?
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_ In summer squash, white fruit color is dominant over yellow fruit color and
disk-shaped fruit is dominant over sphere-shaped fruit. If a squash plant;
true-breeding for white, disk-shaped fruit is crossed with a plant true-

breeding for yellow, sphere-shaped fruit, what will the phenotypic and
genotypic ratios be for:

a. the Fi generation?  b. the F2 generation?
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